CHEM 3423 001 Spring 2024 Name: SCE Y
1D:

Worksheet #14 (Total number of extra credit points you can getis 3 pts)

1. Two rcactions of the same order have identical activation energies.
Their entropies of activation differ by 70 }/(K mol). Calculate the ratio of their
rale constants at any temperature.
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2. The thermal denaturation of a substance A is a first-order process. %
half-life time has been found 4000 s at T:=350 K and SO0 s at T2=400 K
Calculate its activation energy £, Ny
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3. Assume that the activation energy of problem 2 is related to the enthalpy
of activation 8*H® by E.= A®H®+ RT.. Assume the process of problem 2 can be
described by the Fyring cquation: k = keT/h exp(-A"GO/RT). Calculate the
cnthalpy of activation and#cntropy activation at T=350 K.. (kr=1.3807 x 10-23)/K;
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